5/16-18 U-BOLT

SWIVEL U-BOLT SADDLE
CAST 356 (2) 5/16 KEPS NUT
(2) 3/8-16 BOLT ALUMINUM TYPICAL (4) CLAMPS
(2) WASHER
(2) SPLIT LOCK WASHER PLASTIC TUBE CAP
CABLE
UPPER ARM
CAST 356 ALUMINUM

(2) 3/8-16 THREAD ENDS
(2) 3/8 FLAT WASHERS

(2) 3/8 SPLIT LOCK WASHERS
(2) 3/8 HEX NUTS
(2) CABLE STOPS

CLAMP SADDLE
CAST 356 ALUMINUM

(2) 5/16-18 U-BOLTS RUBBER SEAL
(2) 5/16 SPLIT LOCK WASHERS
(2) 5/16 HEX NUTS
(3) 5/16-18 STUD
(3) 5/16 SPLIT LOCKWASHER
(3) HEX NUT
(1) UPPER RETAINING RING

EXTRUDED ALUMINUM POLE

(3) 5/16-18 STUD
(3) 5/16 SPLIT LOCKWASHER
s

—_——

HEX NUT

1/4-20 TRUSS HEAD SCREW LOWER RETAINING RING

LOWER ARM
ALUMINUM COVER PLATE CAST 356 ALUMINUM

PART NUMBER
POLE LENGTHS AVAILABLE SBC66-EXT-46

18", 46", 60", 74", 96", 120"

CABLE LENGTH 4

TUBE LENGTH
BAND LENGTH MAST ARM DIA.
. —n THE INFORMATION_CONTAINED IN R —
29 2'-7 FROPERTY OF SKYBRACKET. ANY SKi
42" 8 -11" Z\i¥§§§gi%%i§TR=§EEIRAEE?;I\T/T{TESS\?/&?LE MAST KR NOUNTING BO HDWARE
n " " . TITLE
59 ] 2 - ] 7 APPROVALS BY DATE EXTEN DED 3 SECT'ON
NOTES: DRAWN  TRC 7/21/15 (BAND CLAMP)
1. STAINLESS STEEL HARDWARE. suis e .
2. AVAILABLE WITH CABLE STYLE CLAMP e NGO o~ G 6-EXT-46 e

DO NOT SCALE DRAWING SCALE: NTS CAD  FILE: SBC66-EXT-46 SHEET  10OF1



	Sheet1
	Drawing View1


